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L. Answer the following as directed : 1x8=8

(aQ) What is the sex ratio of Assam

according to 2011 Census?
(b) The size of agricultural small holding is
(i) below 1 hectare
(i) 1-0-2:0 hectare
(i) 2-:0-4-0 hectare
(iv) 4:0-10 hectare
( Choose the correct answer )

() Define sustainable agriculture.
(d) Write the full form of NEIIP.

By (e) What is the sex ratio of Assam?
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(e | (3)

() Which of the following is a stakeholder _ 3. Do you think that the basic characteristics of
of Brahmaputra Cracker and Polymer ‘ the economy of Assam differ from those of
Ltd.? | the national economy? Justify your answer. 12
; ol
() GAIL (i) NEC } or
(i) RBI (iv) None of these :
( Choose the correct answer ) . What is urbanization? Discuss the trend of

urbanization in Assam since the beginning of
Five-Year Planning. Is the current trend of

‘ ‘ anization in Assam satisfactory? Discuss.
() Handloom and handicrafts | urb e

(@) Cane and bamboo
(i) Bell metal

(i) Food processing

(9) Which of the following is recognized as a
sunrise industry?

4. Discuss the major changes in the cropping

pattern in Assam. What measures are
( Choose the correct answer ) suggested for introducing a better ands "
(h) Which is known as the ‘golden fibre’? ‘ scientific cropping pattern? SR
() Eri (i) Muga | or

(i) Jute 1] i
( Ch EhaSotten What factors are responsible for uneconomic
oose the correct answer ) size of agricultural holdings in Assam?

2. i .
Xl"’rﬁle oies onony Jour of the following | Suggest a few steps to overcome this
1thin 150 words each) : 4x4=16 A llenge. 7+4=11

(a) Forest r'esources of Assam
(b) Food security

() Bell metq] industry of Assam
(d) Prospects of

5. Explain the basic reasons for slow industrial
growth in Assam. Do you think that the

EsRsportationyin ent trend of liberalization will help in

AS Cu . . -
(e) D'S : accelerating the state of industrial growth in
1sgu1sed unemployment he State? 7+4=11
0} Sericultyre of Hed the State’
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